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1. QU'K Gy nrg, (6udlal  H'Gda | 1. You are given a Question Booklet as well
i%ia’arﬁmz ) E39-ysdt @ I3B-3H as an OMR (Optical Mark Recognition)

fea z[)y?;—u;qﬁ:far 59t ot 3 1 fem Answer Sheet. The Questio_n Boqklet

contains 35 questions of Physics serially

szaaf
YHE-L &5, gHed 1 3 35 AfanT numbered from 1 to 35. Count the pages

34, 35 3 € ] feg arg 75 | of the Question Booklet and be sure that
YHG & YA € s & faedt a9 &< they are in proper order. Write and
w3 FIﬁ)‘WfGB’ gg B fd €7 A mark the Subject Code 052 and

f%’?' 5 | mut 6. 7577-/' g, Question Booklet Series B in your OMR

§39-Y3dt 5T Subject Code 052 3 Answer Sheet.
Question Booklet Series B 189 #3 §3 | | 2. Students are required to indicate their

2. W & G.ui.ng, 6 35-y3dl answers at an appropriate place on the
feg Rt 7 3 It »uE @T-;a' goAEe | OMR Answer Sheet. Darken only one
I& | G.oAH. %, @—ga_uga? Bug fox circle for each question as per
g oo 2 wWaAg I3 g yHS 2 instructions given in the OMR Answer
et ﬁ:,'aa' g igad ' & s 3957 & 1 Sheet. For each question, there are four
gg fea zp:;;y g}ﬁ g9 Aafeg @"—Ja probable answers, out of which only one
53 ag Js, f;@-r =5 firge = 9?8’ is correct. The student is required to
R T WW 3 gt ??H g= select.the correct answer and darken the

3, g a® 639 € H¥u3 949 & BT corresponding circle of the chosen
FaaT I | 3 . answer.

3. G, G99-ygdt fou foye @ 3. Only Bluel/Black Ballpoint Pen is to be

e fAge 3‘}3}/313 TE-nfez O of used to write on the OMR Answer Sheet.
29T @& F 1 W & myer Students should bring their own

Ballpoint Pen. Use of pencil is strictly
e 23 prohibited.
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All questions are compulsory. No choice

4. R YEs sl as | @ YRS fev | 4. :
¥ wasv 3f Q1 g9 fom YHE or is given in any of the questions. Each
N W J question carries 1 mark.

5 EMarE. @Fa-usdt few , |
tvageifa,  mafld 295,  aee, | 6. Overwriting, striking, cutting, applying
ROT/S3905 398 & <93 w3 fedffar white /correction fluid and erasing on
& Hah I i ya'g @ €397 the OMR Answer Sheet is not allowed.
W &t 3T Fear €. 2. %13, Such answers will not be evaluated. Do
& 39-y3dt feg W GaT agT g qdt not make any stray mark on the OMR
o= ?T ;35] fon 72 | AR Answer - Sheet. No change in the
— ;UE? Qﬁf%%g@a ¥7 §'90 darkened circle is allowed once marked
T2 ¥ LS in the OMR Answer Sheet.

6. G.9H.mg, € 39-U3dt fog g7 v 3dT | 6.  Rough work must not be done on the
3T 7T TS | g A 2 T OMR Answer Sheet. Use the last page
= 19 & wffan 3% & I3 9 Aae of the Question Booklet for rough work.
J |

7. fam ggr d sargsHa (Negatw e) Hafdgr | 7+ No negative marking will be done.

&dt &gt areaft |
1. faRn & dug &5 Juge= & »iay [ 1. The ultimate individual unit of
fevadtars feadt § fagr e 3 . magnetism in any magnet is called :
(A) ©3 ug= (A) North pole
(B) <4t uge (B)" South pole
(C) Ifels (C) Dipole
(D) fegst f&5 agt &t (D) None of these
2. fes Ua; = Bl 2. A positively charged glass rod attracts
& »Igi3 et @ M3 di9 . )
s & 5 and then repels the suspended object.
_LI SiEE SEL BT eHg The suspended object is :
: ; (A) Negatively charged
@) foz - (B) Positively charged
(B) U5 ; (C) Neutral
€) ™2 (D) None of these
(D) feox’ &9 aet &t
3. »AT ¥Huydd I ﬁ;-?,-r grag F3&T fagr | 3.  Charging without actual contact is
e called :
5 A) Charging by fricti
(A) TIZF TAT efa?r JI&" ( arging by friction
(B) fézams o Iod qGE" (B) Charging by induction
(C) AIBE DT Tad 35" (C) Charging by conduction
(D) feos® fed 3t &t (D) None of these
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s fofim f&3 fan <t ws 3 =u
zdar Syt 9 2

(A) IFC sdar (B) IHT ]IS
(C) HEgR (D) MIA-T

fedafes diws, 2x100 Hz
afeEt 3 REloREsSt 98 J99 J,

I99T ot 3991 BAE T .

(A) 1:5x102m (B) 15x103m
(C) 15x102m (D) 1-5x103m

& Hu fEsxfee maae &9, F9e :

(A) emf 3 w2 fiia &

(B) w2 ¥MT emf. & wEeE
FgeT 3

(C) e.m.f. In3fi@d

(D) n @MT" em.f & »EEE J9T
3 .

feg 39 = yH3u 8 0 I 3 YFa3I"
(Efea yfsws) 6o J, I9 @

t{Fa*aTw (impedance) J :
A) 8Q (B) 10Q
© 6Q D 14Q

ngaE (Resonance) AIge ot wfadt
fIe

A) 7e X =X¢

(B) ?-!@XL>XC

© T-@XL<XC

(D) feawféﬁaecr&ﬁ

ares <t ufgasuss € MgHwq,
(a) fedaenfes dan

B) fedafea ade

(C) Iuet U39

(D) Tg™ JaFhic (TF)

(C) 15x102m

(3-B)

Which of the following has the longest
wavelength ?
(A) Radio waves (B) Gamma rays

(C) Microwaves (D) X-rays

In a plane e.m. wave the electric field
oscillates sinusoidally at a frequency
of 2 x 1010 Hz. The wavelength of the

wave is :

(A) 16x102m (B) 165X 103 m
(D) 1:5x10%m

In a pure inductive circuit, current :
(A) Lags behind e.m.f. by /2

(B) Leads the e.m.f. n/2

(C) Lags behind e.m.f. by ©

(D) Leads the em.f. by &

A coil has a resistance of 8 Q and an

inductive reactance of 6 Q. The
impedance of the coil is :

A 8Q - (B) 10Q
C) 6Q . D) 140

What is the condltlon of resonant
circuit ?

(A) When X;, =Xg
(B) When X} > X
(C) WhenX; <Xg
(D) None of these

~ According to Maxwell’s hypothesis, a

changing electric field gives rise to :

" (A) Anem.f.

(B) Electric current
(C) Magnetic ﬁeld
(D) Pressure gradlent
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12,
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14.
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Hed w9 @ e § gaw q9s i
tvlate 101(?( 1 fRJB*l{EVEEBfBW
\71 ,i]‘)

(A) Jueld (B) anfesy

©) AMsar (D) fézams (Yge)
373 & yFi3uas faw 3 fagsg agdht
g

(A) 39 &t Aot &t g9m 3

(B) 39 € wgg 3

(C) 39 <t St 3

(D) 39 T ITA-AIHs T 39es I
fea g9a (nfirfles) & me fag3
9" 3 f5ggg aa<dt I 2

(A) FEifedafes -

(B) U&z T 439

(C) &t ¥ &9 gt

(D) feg A3 ‘

ﬁmwﬁaﬁwm
%ﬁfaaa"rfeaasazafeﬁaae
feauas ot T 2

(A) AT gaws 29

(B) fhde sfaee &4

(C) HIH® =91 W3 fgee a1 o
(D) 3 HIHS T M3 & 3fgee 4
12 gBH/MHEE § fofim 77 A & .
(A) 2A (B) 02A

(C) 002A (D) 0002 A

fea ade feae @8 dzaeg o
ﬁesfsﬁafqaaﬁmwfe@aﬁa
Ide WS T nigu3 § fagr e I .
(A) IBA3T (B) Idfidtsar
©) yIeuazr (D) yHeu

7e ffa 39 & .fiffor wer § w3
ferer n9u forw /2 v gior F I
ferer ydigg & .

(A) 4R (B) 16R

(C) 2R (D) R/2

10.

11.

12.

13.

14.

15.

16.

(4-8)

In charging a battery of a motor car,

which effect of clectric current is
used ? ‘

(A) Magnetic (B) Chemical

(C) Heating (D) Induction

Resistivity of a wire depends upon
the : ‘

(A) Composition of material of wire
(B) Shape of wire

(C) Length of wire

(D) Area of cross-section of wire

On what factors does capacitance of a
capacitor depend ?

(A) Dielectric

(B) Area of plate

(C) Distance between plates

(D) All of these

Which of the following characteristics

of electrons determines the current in

a conductor ?

(A) Thermal velocity alone

(B) Drift velocity alone

(C) Both thermal velomty and drift
velocity

Neither thermal velocity nor drift
velocity

(D)

12 Coulomb/minute can be written
as:

(A) 2A
(C) 0-:02A

(B) 02A
(D) 0002 A

In a current carrying conductor the
ratio of the electric field and electric
current density at a point is called -
(A) Conductivity (B) Mobility

(C) Resistivity (D) Resistance

When a wire is stretched and its

radius becomes r/2, then its resistance
will be :

(A) 4R (B)
(C) 2R

16R
(D) R2
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20.
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duelt y=ro wemr ft feard 9 .

(A) Tesla/m

(B) Weber/m®

(C) N/Am?

(D) feaxt f&g adt &4t

Js fefmr 39 faoz ey /dt I 2

A Ip=+v2I, B I;=L/2

© L=0w2l, D I,=J21I,

gé‘sa'ﬂ?s <3sH <t fam <t =93 o<t
0

A) fHGons fEsams

(B) Pze f¥sams

() 3t Id<H

(D) fegat fIg It &4f

B5ad (Lenz’s) € faUH TA<T 3 -

(A) Yfd3 emf. <t Fwgsr

(B) Yfg3 Ide =t femr

(©) Yfs3 Fde &t dimgsr w3 fomr

o<

(D) Yfe3 =de &t Siggsr .

3¢ fia wAfag 3 foa

HAY3 g9dt U39 g JeF J 7 ¢

(A) ?@aqx@mﬁmféqw
I

B) feacs dvs &t forr fe=
g7 I |

() fedags Afeg Ifder I |

(D) fe8dags WHe 7y a9 foer J |

%m:r (Gauss) far w3gr &t feardt
0

(A) dIuat 8§39 &t 393

(B) TEdl YT WEI"

(C) dde

(D) g9t y=I

feg Fsdfes <t yIt Hieg Sadt ©

1000 fort &9 5A T Ide = faar

3 37 Azafes @ nivg dudt 439 T -

(A) 2nx103T (B) 4nx107°T

(C) 2nx10°T (D) 4nx103T

l7l

18.

19.

20.

21.

22.

23.

(5-8B)

(B)

The unit of magnetic flux density is :
(A) Tesla/m (B) Weber/m?
(C) N/Am? (D) None of these

Which of the following relations is
correct ?
(A) Iy= 21,

©) I,=w2)I,

(B) I,=1,/v2
D) I,=v21,

Induction furnace makes use of :
(A) Mutual induction

(B) Self-induction

(C) Eddy currents

(D) None of these

Lenz’s law gives :

(A) The magnitude of induced e.m.f.
The direction of induced current
Both magnitude and direction of
induced current

The magnitude of
current

©

D) induced

A strong magnetic field is applied on a
stationary electron, then :
(A) the electron moves in an opposite
_direction.
the ..electron moves in
direction of the field. .
(C) the electron remains stationary.
(D) the electron starts spinning.

(B) the

Gauss is a unit of which quantity ?
(A) Magnetic field strength

(B) Magnetic flux density

(C) Current

(D) Magnetic flux

A solenoid has 1000 turns per meter
length. If a'cutrrent of 5 A is flowing
through it, then magnetic field inside
the solenoid is @
(A) 2rx103T

(C) 2nx10°°T

(B) 4nx10°T
(D) 4nx103T
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25.

26.

27,

28.

29.
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UG A 100 C w3 5«00 0 W
o 310 fidhfles & g 3 9 g
96 QI8 2 fevag feBaendfeq us
T HS U3T F9 |

(A) 135x101'N (B) 3x101'N
(C) 18x10°N (D) 135x 101N

9%x10°1 ficg w@w fewrg =@
uaHe faladmm (Z = 50) @ WY <
FTBU@’J?H’S?T:

A) 9 ! (B) 80 ¥B<

(C) 8x10% W2 (D) 9x105 T2

fedafea soat 2@ fegaw =m o
mmg@méﬁa’w

(A) ftig @ fson
(B) Gaw = fauy |
(C) &3 T fouH
(D) FBH = fowy

ﬂéé‘wmeﬂmﬁﬁw
(A) nig

(B) < Jer

(C) 99 =

(D) fegst 5§ St ot

.ﬁaﬁéﬁamﬁmm

ESUECHR

A) fedafea sow

(B) fedafew dtws

() feBafea mET (12rs)

(D) fedafex Z9W (9)

fedafea yafifefedt ¥ vy T5
(A) [MIL3T4A%

(B) [M1L-3T4A%)"

(C) [M-1L3T4A2

(D) M 1L-3T4A2

24,

25-

26.

27.

28.

29,

B)

Two charges 3 % 105 C and 6 % 10% ¢

are placed at a distance of 10 cm from

oach other. Find the wvalue of
clectrostatic force acting between
them.

(A) 135 x 1011 N (B) 3% 101N

(C) 18x10°N (D) 13 5% 1010N

Potential at the surface of an atomic
nucleus (Z 50) of radius 9 x 1015

lS

(A) 9 volt

(C) 8x 108 volt

(B) 80 volt
(D) 9x 10° volt

The law governing the force between
electric charges is known as :

(A) Ampere’s law

(B) Ohm’s law

(C) Faraday’s law

(D) Coulomb’s law

When the distance between two
charges is halved, the force between
the charges becomes :

(A) half

(B) twice

(C) four times

(D) None of these

Which physical quantity has unit as
Newton per Coulomb ?

(A) Electric charge

(B) Electric field

(C) Electric potential

(D) Electric force

The dimensions of
permittivity are :

(A) [Ml L3 T4 A—2]

(B) ‘'(M11-3714 A2]

(C) M 13T+ A2]

(D) (M1p-374 A2

electric
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35.
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gﬂ't??ﬂ Nty (Magnetic meridian)
J
(A)
(B)
()
(D)

fSETEmm T e W fedads

iy
NS © 38 oty
fufs+

(A) pen (B) pe 1/n

(C) pecn? (D) e 1/n2

fes dsaes &9 ade & g9s fifx

fog <t Suet Ftwgzr &t femssr faw

fewH gnmar ot widt 7 2

(A) He J8 T »igs = faun

(B) wfeGe-weae = faun

(C) <BfHar = ¥9 Jg =T fawy

(D) FBH = feun

yegyt f3g 9993 T 96 Jer J -

(A) Thae feBagst &t wisfacs ot

(B) frge fedaes' <t wius ot

(€) fegags’ & nfus w3 wiafaes
It 29t | 998

(D) S J€ gEA

wregH MHHled = yIieu J :

A 1 (B) &3

©) #i3 (D) 10Q

200 Q yf3sy T f&x ABaHled 7 fa
5mA ¥ I&¢ JE Y3 IHs T fedus
féer § § 25 v &f 37 ¥ IWotes
f&g g=ge met &die yIieu T 0B
J<ar -
(A) 5KQ
(C) 48KQ

(B) 52KQ
(D) 42KQ

(7-

J30.

31.

32.

33.

34.

35.

B)

- (B)

(A

Magnetie meridian is :

(A) point

(B) line along NS

(C) horizontal plane

(D) vertical plane along NS

The magnetic moment p of a revolving
electron around the nucleus varies
with principal quantum number n as :

(A) pen (B) pe<1l/n
(C) pecn? (D) e 1/n?

Magnitude of the magnetic intensity
of a point due to a current in a
conductor is given by :

(A) Right hand thumb rule
Biot-Savart’s law
Fleming’s left hand rule

Coulomb’s law

(©)
(D)

Magnetism in substances is caused
by: _
Orbital motion of electrons only
(B)
(©)

Spin motion of electrons only

Due to spin and orbital motions of
electrons both

(D) Hidden magnets

Resistance of Ideal Ammeter is:
(_A) 1 (B) Infinite
(C) Zero (D) 10Q

The value of resistance needed to
convert a galvanometer of resistance
200 Q which gives full scale deflection
for a current of 5, mA, into a voltmeter
of range 256V is.‘:‘ :
(A) 5KQ

(C) 48 KQ

(B) 52KQ
(D) 42KO



